21 3 11







RPV
g

*~— m};/ NZAVANVAVVAAY:
c ;0,3 | ;
E)’ o_4r ]f LIL*U'5 ]
g =S
i:gi:]ﬂ ] [E_
'(i_.\'r.m,s.i,. ]2.0{GL)-I:I;[I L’J:l ko<
R B I |
g 1.6} | I_I_I I
S !
1.7) ’JNI_ 2.0 —I—I—J-'—ﬂ‘ N
= .
ol —
l 56.6m
QED @
: (NS )
22.484m?
208,367m?3
s RC+SRC+S




FAA T =W
RH ‘ {

RCCV. i

| |

. Tt

\ oL A (i T
' [

1l

PPV

EEEEE



EEEEE

[4}E%-RCCVER]

/

i 1 - & ABTRITEE TR

[EAR S R ER]

GL

7

T FA




K9

000
¢) m=EN
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T.M.S.L.

-13.7

10

K1l

2 2
W (kN) le As () W (kN) o As (%)
(><10°kNm?) I (m" (><10°kNm?) I (m%
1 39,540 70.7
41.0 13,600 T
2 79,450 403.0
82.4 50,500
3 86,670 484.3 11 94,140 33.3
183.8 71,400 118.2 7,200
4 83,020 287.2 12 157,400 384.4
126.5 70,400 109.2 23,300
5 55,470 199.9 13 101,890 303.0
183.7 87,200 122.8 23,500
6 82,360 293.2 14 199,370 400.1
180.2 103,000 133.0 23,400
7 78,650 291.3 15 125,920 392.3
201.8 112,800 119.5 23,600
8 79,430 293.2 16 136,710 369.7
271.5 119,000 129.7 29,500
9 339,800 936.5
3,373.4 900,600 [
10 216,920 580.6
1,956,740
Ec 3.13><10" (kN/m?) Ec 2.90x10" (KN/m?)
1.31><10" (kN/m?) G 1.21x107 (kN/m?%)
v 0.20 v 0.20
h 5% h 5%
56.6m NS ><59.6m EW
Ke 2.32><10"(kNm/rad)




T.M.S.L.
m

EW

K7

-13.7

10

K9 K10

2 2
Is 2 I 2
W (D (><10°kNm?) As () I (m" W (D (><10°kNm?) As () I (m%
1 39,540 147.4
54.7 29,900 T
2 79,450 301.3
122.6 61,200
3 91,670 303.9 11 89,140 275.6
166.9 89,400 243.6 6,700
4 67,180 275.6 12 173,240 480.4
139.1 82,600 216.7 23,300
5 52,160 220.6 13 105,200 332.4
153.8 96,200 162.9 23,100
6 81,290 330.4 14 200,440 439.3
197 111,700 118.6 23,400
7 77,080 317.7 15 127,490 433.5
215.7 124,000 179.1 21,200
8 77,960 320.7 16 138,180 408.9
280.2 131,000 138.6 23,800
9 339,800 1030.7
3,373.4 998,600 | \
10 216,920 647.2
1,956,740
Ec 3.13><10" (kN/m?) Ec 2.90x10" (KN/m?)
1.31><10" (kN/m?) G 1.21x10" (kN/m?)
v 0.20 v 0.20
h 5% h 5%
56.6m NS >59.6m EW
Ke 2.32>1010(kNm/rad)

000
¢) m=EN

TEPCO




| 6.2n | 6.2n | 6.1m | T-M.S.L.
AR ORP
2
Ro—o—o WGk | Ay () WkN) [ As (><107m%) I (")
21 22 23
1 30,760 1
89.0 21.25 2.00
2 79,450 23 3,520
199.2 16.82 2.00
3 180,810 22 3,510
587.3 7.94 2.00
4 240,420 21 1,750
585.5
5 157,360
616.0
6 281,730 E. 3.13><10"(kN/m?)
619.8 G 1.31><10" (kN/m?)
7 204,570 v 0.20
705.4 h 5%
8 216,140
806.3 E:2.90><10"  KkN/m?
9 339,800 G 1.21>10"  kN/m?
3373.4 v 0.20
10 216,920 h 5%
10 -13.7 ’
1,956,740
£5 2.05>10°(kN/m?)
K1 7 2
G 7.90><10"(kN/m?)
7 v 0.30

h 2%
56.6m(NS  )><59.6m(EW )
Ky 4.24>10" kN m/rad

000
¢) m=EN

TEPCO



(Ss-1)

T ’\(/lm§ L Vs Y \V G Go 6/G E h (m)
m/s) | (k) (><10°kN/m?) | (< 10°KkN/m?) ° | (<10%N/m?)| ()
+12.0 150 16.1 | 0.347 0.10 0.37 0.27 | 0.27 23 | 4.0
+8.0 200 16.1 | 0.308 0.08 0.66 0.12 | 0.21 28 | 4.0
+4.0 330 17.3 | 0.462 1.01 1.92 0.53 | 2.95 6 |10.0
-6.0
490 17.0 | 0.451 3.82 4.16 0.92 | 11.09 3 |27.0
-33.0
530 16.6 | 0.446 4.22 4.75 0.89 | 12.20 3 |s7.0
~90.0
590 17.3 | 0.432 5.28 6.14 0.86 | 15.12 3 |46.0
~136.0
650 19.3 | 0.424 7.40 8.32 0.89 | 21.08 3 |19.0
~155.0
720 19.9 | 0.416 | 10.50 10.50 | 1.00 | 29.74 - | -

000
¢) m=En

TEPCO




(Ss-2)

T- h(/'mi -+ Vs Y \% G Go 6/G E h (m)
m/s) | (/) (><10°kN/m?) | (< 10°KkN/m?) | (<10%N/m?)| ()
+12.0 150 16.1 | 0.347 0.11 0.37 0.29 [ 0.29 19 | 4.0
+8.0 200 16.1 | 0.308 0.07 0.66 0.11 | 0.19 26 | 4.0
+4.0 330 17.3 | 0.462 0.98 1.92 0.51 | 2.86 5 [10.0
-6.0
490 17.0 | 0.451 3.82 4.16 0.92 | 11.09 3 |27.0
-33.0
530 16.6 | 0.446 4.32 4.75 0.01 | 12.49 3 |57.0
~90.0
590 17.3 | 0.432 5.64 6.14 0.92 | 16.15 3 |46.0
~136.0
650 19.3 | 0.424 7.82 8.32 0.94 | 22.27 3 |19.0
~155.0
720 19.9 | 0.416 | 10.50 10.50 | 1.00 | 29.74 - -

000
¢) m=En

TEPCO




(Ss-3)

T h(/'mi L Vs Y \V G Go 6/G E h (m)
m/s) | (n/md) (><10°kN/m?) | (< 10°KkN/m?) | (<10%N/m?)| ()
+12.0 150 16.1 | 0.347 0.12 0.37 0.33 | 0.33 21 | 4.0
+8.0 200 16.1 | 0.308 0.11 0.66 0.16 | 0.27 27 | 4.0
+4.0 330 17.3 | 0.462 1.05 1.92 0.55 | 3.07 6 |10.0
-6.0
490 17.0 | 0.451 3.86 4.16 0.93 | 11.20 3 |27.0
-33.0
530 16.6 | 0.446 4.03 4.75 0.85 [ 11.65 3 |57.0
~90.0
590 17.3 | 0.432 5.15 6.14 0.84 | 14.75 3 |46.0
~136.0
650 19.3 | 0.424 7.23 8.32 0.87 | 20.59 3 |19.0
~155.0
720 19.9 | 0.416 | 10.50 10.50 | 1.00 | 29.74 - | -
o0
¢) RREN

TEPCO
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(Ss-4)

T'“ér;;"' Vs Y \Y% G Go 6/G E h (z)
m/s) | (/m®) (< 10°kN/m?) | (< 10°kN/m?) " | (<10°kN/m®) | (%)
+12.0 150 16.1 | 0.347 0.12 0.37 0.33 | 0.33 18 | 4.0
+8.0 200 16.1 | 0.308 0.11 0.66 0.16 | 0.27 24 | 4.0
+4.0 330 17.3 | 0.462 1.11 1.92 0.58 | 3.25 4 |10.0
-6.0
490 17.0 | 0.451 3.95 4.16 0.95 [ 11.46 3 |27.0
~33.0
530 16.6 | 0.446 4.37 4.75 0.92 | 12.64 3 |s7.0
-90.0
590 17.3 | 0.432 5.64 6.14 0.92 | 16.15 3 |46.0
~136.0
650 19.3 | 0.424 7.82 8.32 0.04 | 22.27 3 |19.0
~155.0
720 19.9 | 0.416 | 10.50 10.50 | 1.00 | 29.74 - | -
oo
¢) RREN

TEPCO

11




(Ss-5)

T'“ér;;"' Vs Y \V G Go 6/G E h (z)
m/s) | (/m®) (< 10°kN/m?) | (< 10°kN/m?) " | (<10°kN/m®) | (%)
+12.0 150 16.1 | 0.347 0.11 0.37 0.31 | 0.31 16 | 4.0
+8.0 200 16.1 | 0.308 0.11 0.66 0.16 | 0.27 22 | 4.0
+4.0 330 17.3 | 0.462 1.07 1.92 0.56 | 3.13 4 |10.0
-6.0
490 17.0 | 0.451 3.91 4.16 0.94 | 11.35 3 |27.0
~33.0
530 16.6 | 0.446 4.32 4.75 0.91 | 12.49 3 |s7.0
-90.0
590 17.3 | 0.432 5.46 6.14 0.89 | 15.64 3 |46.0
~136.0
650 19.3 | 0.424 7.48 8.32 0.90 | 21.30 3 |19.0
~155.0
720 19.9 | 0.416 | 10.50 10.50 | 1.00 | 29.74 - | -
oo
¢) RREN

TEPCO

12




(Ss-1)

1) *2) *3) (@) *2) *3)
K. (H2) (o f,(Hz) K, (H2) Ce f,(Hz)

K1 7 1.07><10° 0.60 4.25%10° 2.30 K1 7 1.07><10° 0.60 4.26>10° 2.35
K2 7 8.33><10° 0.01 1.05><108 2.30 K2 7 8.33><10° 0.01 1.06><10° 2.35
K3 8 2.85>10° 0.60 1.13>=<10° 2.30 K3 8 2.85%10° 0.60 1.13%=<10° 2.35
K4 8 2.21>10° 0.01 2.80><10° 2.30 K4 8 2.21>10° 0.01 2.81><10° 2.35
K5 9 8.53>10° 1.17 1.73>=<10° 2.30 K5 9 8.53>10° 1.17 1.73%<10° 2.35
K6 9 6.73><10° 0.01 3.99><10® 2.30 K6 9 6.73><10° 0.01 4.01><10® 2.35
K7 10 4.52>10° 1.26 8.61>10° 2.30 K7 10 4.52>10° 1.26 8.61><10° 2.35
K8 10 3.54>10° 0.01 1.96><10° 2.30 K8 10 3.54>10° 0.01 1.98><10° 2.35
K9 10 7.28>10’ 0.00 2.84><10° 2.30 K9 10 7.25%10 0.00 2.82><10° 2.35
K10 10 7.06><10% 0.00 6.15><10° 2.30 K10 10 7.60><10" 0.00 7.17><10° 2.35

(*1) K1,K3,K5,K7,K9 kN/m K2,K4,K6,K8,K10 KkNm/rad (*1) K1,K3,K5,K7,K9 kN/m K2,K4,K6,K8,K10 KkNm/rad

(*2) K1,K3,K5,K7,K9 KkNs/m K2,K4,K6,K8,K10 kNsm/rad (*2) K1,K3,K5,K7,K9 kNs/m K2,K4,K6,K8,K10 kNsm/rad

(*3) 1 1 *3) f1 1

D
Ko (KN/m) (H2) Ce (KkNs/m) f.(H2)
K1 10 1.20>=<10° 0 6.51>10° 3.89
(*1) f1 1
000
¢) RREN

TEPCO 1 3



(Ss-2)

) ¢2) ¢3) ¢ ¢2) ¢3)
K. (H2) Ce f,(Hz) K. (H2) C. f,(H2)

K1 7 1.04><10° 0.59 4.19><10° 2.30 K1 7 1.04>10° 0.59 4.20><10° 2.35
K2 7 8.05><10° 0.01 1.04><10° 2.30 K2 7 8.05>10® 0.01 1.04><108 2.35
K3 8 2.75%<10° 0.59 1.11>=<10° 2.30 K3 8 2.75%<10° 0.59 1.12><10° 2.35
K4 8 2.14>10° 0.01 2.76>10° 2.30 K4 8 2.14>10° 0.01 2.77><10° 2.35
K5 9 8.51>10° 1.17 1.73%<10° 2.30 K5 9 8.51>10° 1.17 1.73=<10° 2.35
K6 9 6.72><10° 0.01 3.98>10° 2.30 K6 9 6.72><10° 0.01 4.01><10° 2.35
K7 10 4.52><10° 1.26 8.61><10° 2.30 K7 10 4.52><10° 1.26 8.61><10° 2.35
K8 10 3.54>10° 0.01 1.96><10° 2.30 K8 10 3.54>10° 0.01 1.98>=<10° 2.35
K9 10 7.34%10 0.00 2.85>10° 2.30 K9 10 7.31=<10 0.00 2.83><10° 2.35
K10 10 7.15>10% 0.00 6.13><10° 2.30 K10 10 7.70=<10% 0.00 7.15><10° 2.35

(*1) K1,K3,K5,K7,K9 kN/m K2,K4,K6,K8,K10 kNm/rad (*1) K1,K3,K5,K7,K9 KkN/m K2,K4,K6,K8,K10 kNm/rad

(*2) K1,K3,K5,K7,K9 kNs/m K2,K4,K6,K8,K10 kNsm/rad (*2) K1,K3,K5,K7,K9 kNs/m K2,K4,K6,K8,K10 kNsm/rad

3 f1 (*3) f1

D
Ko (KN/m) (H2) Cc (kNs/m) f.(H2)
K1 10 1.22x=<10° 0 6.57><10° 3.91
*1) f1 1
000
¢) RREN

TEPCO

14




(Ss-3)

D 2 3 D 2 *3)
K. (H2) (o f,(Hz) K, (H2) (o ,(H2)
K1 7 1.11><10° 0.61 4.30=<10° 2.28 K1 7 1.11>=<10° 0.61 4.32%<10° 2.33
K2 7 8.61>10° 0.01 1.07>=<10°8 2.28 K2 7 8.61>10° 0.01 1.07><10° 2.33
K3 8 2.94>10° 0.61 1.14><10° 2.28 K3 8 2.94><10° 0.61 1.15>10° 2.33
K4 8 2.28>10° 0.01 2.84>10° 2.28 K4 8 2.28>=10° 0.01 2.84>10° 2.33
K5 9 8.62><10° 1.18 1.74><10° 2.28 K5 9 8.62><10° 1.18 1.74%<10° 2.33
K6 9 6.79><10° 0.01 3.99>10° 2.28 K6 9 6.79><10° 0.01 4.02><10® 2.33
K7 10 4.56><10° 1.27 8.65>10° 2.28 K7 10 4.56><10° 1.27 8.65>10° 2.33
K8 10 3.57>10° 0.01 1.96><10° 2.28 K8 10 3.57>10® 0.01 1.98>10° 2.33
K9 10 7.16>107 0.00 2.82><10° 2.28 K9 10 7.13><10’ 0.00 2.79><10° 2.33
K10 10 6.89><10% 0.00 6.09><10° 2.28 K10 10 7.42><10% 0.00 7.10><10° 2.33
(*1) K1,K3,K5,K7,K9 kN/m K2,K4,K6,K8,K10 kNm/rad (*1) K1,K3,K5,K7,K9 kN/m K2,K4,K6,K8,K10 KkNm/rad
(*2) K1,K3,K5,K7,K9 KkNs/m K2,K4,K6,K8,K10 kNsm/rad (*2) K1,K3,K5,K7,K9 kNs/m K2,K4,K6,K8,K10 kNsm/rad
*3) f1 *3) f1
&)
Ke (KN/m) (H2) Ce (kNs/m) f.(H2)
K1 10 1.16><10° 0 6.41>10° 3.85
(*1) f1 1
000
¢) RREN

TEPCO

15




(Ss-4)

D 2 *3) IC)) ¢2) *3)
K. (H2) (o f,(Hz) K, (H2) Ce f,(H2)

K1 7 1.17><10° 0.63 4.42><10° 2.33 K1 7 1.17>=<10° 0.63 4.44><10° 2.38
K2 7 9.12>10® 0.01 1.10><10° 2.33 K2 7 9.12><10° 0.01 1.10><10° 2.38
K3 8 3.11>10° 0.63 1.17><10° 2.33 K3 8 3.11><10° 0.63 1.18>10° 2.38
K4 8 2.42><108 0.01 2.91>10® 2.33 K4 8 2.42>10° 0.01 2.92>10° 2.38
K5 9 8.85>10° 1.19 1.77><10° 2.33 K5 9 8.85>10° 1.19 1.77><10° 2.38
K6 9 6.98><10° 0.01 4.06><10° 2.33 K6 9 6.98><10° 0.01 4.09><10° 2.38
K7 10 4.68><10° 1.29 8.76><10° 2.33 K7 10 4.68><10° 1.29 8.76><10° 2.38
K8 10 3.66>10° 0.01 1.99><10° 2.33 K8 10 3.66><10° 0.01 2.01><10° 2.38
K9 10 7.52>107 0.00 2.88><10° 2.33 K9 10 7.48>10 0.00 2.86><10° 2.38
K10 10 7.33><10% 0.00 6.22><10° 2.33 K10 10 7.89><10% 0.00 7.24><10° 2.38

(*1) K1,K3,K5,K7,K9 kN/m K2,K4,K6,K8,K10 kNm/rad (*1) K1,K3,K5,K7,K9 KkN/m K2,K4,K6,K8,K10 kNm/rad

(*2) K1,K3,K5,K7,K9 kNs/m K2,K4,K6,K8,K10 kNsm/rad (*2) K1,K3,K5,K7,K9 KkNs/m K2,K4,K6,K8,K10 kNsm/rad

(*3) f1 1 (*3) f1 1

D
Ke (kN/m)|  (Hz)  |C. (kNs/m)|  f(Hz)
K1 10 1.24><10° 0 6.62>10° 3.94
1) f1 1
000
¢) RREN

TEPCO 1 6



(Ss-5)

D 2 3 D 2 *3)
K. (H2) (o f,(Hz) K, (H2) (o ,(H2)
K1 7 1.14><10° 0.62 4.36><10° 2.32 K1 7 1.14><10° 0.62 4.37=<10° 2.37
K2 7 8.83><10° 0.01 1.08><10° 2.32 K2 7 8.83><10° 0.01 1.09>=<10° 2.37
K3 8 3.01><10° 0.62 1.16><10° 2.32 K3 8 3.01><10° 0.62 1.16><10° 2.37
K4 8 2.34>10° 0.01 2.87>=<10° 2.32 K4 8 2.34>=<10® 0.01 2.88><10° 2.37
K5 9 8.73>10° 1.18 1.75>10° 2.32 K5 9 8.73><10° 1.18 1.75%10° 2.37
K6 9 6.89><10° 0.01 4.03><10® 2.32 K6 9 6.89><10° 0.01 4.06><10° 2.37
K7 10 4.62>10° 1.28 8.71>10° 2.32 K7 10 4.62>10° 1.28 8.70><10° 2.37
K8 10 3.62>10° 0.01 1.98>=<10° 2.32 K8 10 3.62>10° 0.01 2.00><10® 2.37
K9 10 7.43%107 0.00 2.87>=<10° 2.32 K9 10 7.40><10 0.00 2.84><10° 2.37
K10 10 7.21><10% 0.00 6.20><10° 2.32 K10 10 7.76><10% 0.00 7.22><10° 2.37
(*1) K1,K3,K5,K7,K9 kN/m K2,K4,K6,K8,K10 KkNm/rad (*1) K1,K3,K5,K7,K9 kN/m K2,K4,K6,K8,K10 KkNm/rad
(*2) K1,K3,K5,K7,K9 kNs/m K2,K4,K6,K8,K10 kNsm/rad (*2) K1,K3,K5,K7,K9 KkNs/m K2,K4,K6,K8,K10 kNsm/rad
(*3) f1 (*3) f1
D
Ko (KN/m) (H2) Cc (kNs/m) T,(H2)
K1 10 1.22%=<10° 0 6.56><10° 3.91
(*1) f1 1
000
¢) RREN

TEPCO

17




(Ss-1)

() (Hz) @) (Hz)
1 0.436 2.30 1.579 1 0.426 2.35 1.541
2 0.191 5.24 -0.678 2 0.190 5.28 -0.605
3 0.087 11.51 0.040 3 0.079 12.66 -0.042
4 0.075 13.29 0.107 4 0.074 13.47 0.137
5 0.074 13.52 -0.008 5 0.070 14.36 -0.035
@) (Hz)
1 0.276 3.62 10.202
2 0.257 3.89 -9.262
3 0.077 13.03 0.089
4 0.051 19.54 -0.102
5 0.046 21.61 0.097
1
eoe
¢) RREN
18

TEPCO




(Ss-2)

() (Hz) @) (Hz)
1 0.435 2.30 1.579 1 0.425 2.35 1.542
2 0.190 5.26 -0.679 2 0.189 5.29 -0.605
3 0.087 11.51 0.040 3 0.079 12.66 -0.042
4 0.075 13.30 0.107 4 0.074 13.47 0.137
5 0.074 13.53 -0.006 5 0.070 14.37 -0.034
() ()
1 0.275 3.63 9.818
2 0.256 3.91 -8.879
3 0.077 13.03 0.090
4 0.051 19.54 -0.103
5 0.046 21.61 0.098
1
eoe
¢) RREN
19

TEPCO




(Ss-3)

() (tz) () (Hz)
1 0.438 2.28 1.578 1 0.429 2.33 1.541
2 0.192 5.21 -0.676 2 0.191 5.25 -0.603
3 0.087 11.51 0.040 3 0.079 12.66 -0.041
4 0.075 13.29 0.109 4 0.074 13.47 0.135
5 0.074 13.50 -0.012 5 0.070 14.34 -0.035
() ()
1 0.278 3.60 10.732
2 0.260 3.85 -9.789
3 0.077 13.03 0.086
4 0.051 19.54 -0.099
5 0.046 21.59 0.094
1
eoe
¢) RREN

TEPCO

20




(Ss-4)

() (tz) () (Hz)
1 0.429 2.33 1.581 1 0.420 2.38 1.543
2 0.188 5.32 -0.684 2 0.187 5.36 -0.609
3 0.087 11.51 0.041 3 0.079 12.66 -0.043
4 0.075 13.31 0.106 4 0.074 13.48 0.141
5 0.074 13.57 -0.002 5 0.069 14.40 -0.035
() ()
1 0.275 3.64 9.398
2 0.254 3.94 -8.460
3 0.077 13.03 0.092
4 0.051 19.54 -0.105
5 0.046 21.62 0.099
1
eoe
¢) RREN

TEPCO

21




(Ss-5)

() (tz) () (Hz)
1 0.431 2.32 1.580 1 0.422 2.37 1.543
2 0.189 5.29 -0.682 2 0.188 5.36 -0.607
3 0.087 11.51 0.041 3 0.079 12.66 -0.043
4 0.075 13.30 0.107 4 0.074 13.48 0.139
5 0.074 13.55 -0.005 5 0.070 14.38 -0.035
() (t2)
1 0.275 3.63 9.818
2 0.256 3.91 -8.879
3 0.077 13.03 -0.090
4 0.051 19.54 -0.103
5 0.046 21.61 0.098
1
eoe
¢) RREN

TEPCO

22
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(Ss-1)

T '\émi L Vs Y \V G Go 6/G E h (z)
/sy | g (<10°kN/mP) [ (< 10%kN/m?)| 0 | (><10°kN/mP)| ()
+12.0 150 16.1 | 0.347 0.10 0.37 0.27 | o0.27 23 | 4.0
+8.0 200 16.1 | 0.308 0.08 0.66 0.12 | o0.21 28 | 4.0
+4.0 330 17.3 | 0.462 1.01 1.92 0.53 | 2.95 6 | 10.0
-6.0
490 17.0 | 0.451 3.82 4.16 0.92 | 11.00 3 |27.0
~33.0
530 16.6 | 0.446 4.22 4.75 0.89 | 12.20 3 |57.0
~90.0
590 17.3 | 0.432 5.28 6.14 0.86 | 15.12 3 |46.0
~136.0
650 19.3 | 0.424 7.40 8.32 0.89 | 21.08 3 |19.0
~155.0
720 19.9 | 0.416 | 10.50 10.50 | 1.00 | 29.74 - -
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ms) | /) (><10°kN/n?) | (< 10%KkN/m?) | (<10%N/m?)| ()
+12.0 150 16.1 | 0.347 0.11 0.37 0.29 | 0.29 19 | 4.0
+8.0 200 16.1 | 0.308 0.07 0.66 0.11 | 0.19 26 | 4.0
+4.0 330 17.3 | 0.462 0.98 1.92 0.51 | 2.86 5 [10.0
-6.0
490 17.0 | 0.451 3.82 4.16 0.92 | 11.09 3 |27.0
~33.0
530 16.6 | 0.446 4.32 4.75 0.901 | 12.49 3 |57.0
~90.0
590 17.3 | 0.432 5.64 6.14 0.92 | 16.15 3 |46.0
~136.0
650 19.3 | 0.424 7.82 8.32 0.94 | 22.27 3 |19.0
~155.0
720 19.9 | 0.416 | 10.50 10.50 | 1.00 | 29.74 - -
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ms) | /) (><10°kN/n?) | (< 10%KkN/m?) | (<10%N/m?)| ()
+12.0 150 16.1 | 0.347 0.12 0.37 0.33 | 0.33 21 | 4.0
+8.0 200 16.1 | 0.308 0.11 0.66 0.16 | 0.27 27 | 4.0
+4.0 330 17.3 | 0.462 1.05 1.92 0.55 | 3.07 6 |10.0
-6.0
490 17.0 | 0.451 3.86 4.16 0.93 | 11.20 3 |27.0
~33.0
530 16.6 | 0.446 4.03 4.75 0.85 | 11.65 3 |57.0
~90.0
590 17.3 | 0.432 5.15 6.14 0.84 | 14.75 3 |46.0
~136.0
650 19.3 | 0.424 7.23 8.32 0.87 | 20.59 3 |19.0
~155.0
720 19.9 | 0.416 | 10.50 10.50 | 1.00 | 29.74 - -
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T ’\(An; L Vs Y v G Go 6/G E h (:)
ms) | /) (><10°kN/n?) | (< 10°KkN/m?) | (><10%N/m?)| ()
+12.0 150 16.1 | 0.347 0.12 0.37 0.33 | 0.33 18 | 4.0
+8.0 200 16.1 | 0.308 0.11 0.66 0.16 | 0.27 24 | 4.0
+4.0 330 17.3 | 0.462 1.11 1.92 0.58 | 3.25 4 [10.0
-6.0
490 17.0 | 0.451 3.95 4.16 0.95 | 11.46 3 |27.0
~33.0
530 16.6 | 0.446 4.37 4.75 0.92 | 12.64 3 |s7.0
~90.0
590 17.3 | 0.432 5.64 6.14 0.92 | 16.15 3 |46.0
~136.0
650 19.3 | 0.424 7.82 8.32 0.94 | 22.27 3 |19.0
~155.0
720 19.9 | 0.416 | 10.50 10.50 | 1.00 | 29.74 - | -
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T ’\(An; L Vs Y v G Go 6/G E h (:)
ms) | /) (><10°kN/n?) | (< 10°KkN/m?) | (><10%N/m?)| ()
+12.0 150 16.1 | 0.347 0.11 0.37 0.31 | 0.31 16 | 4.0
+8.0 200 16.1 | 0.308 0.11 0.66 0.16 | 0.27 22 | 4.0
+4.0 330 17.3 | 0.462 1.07 1.92 0.56 | 3.13 4 [10.0
-6.0
490 17.0 | 0.451 3.91 4.16 0.94 | 11.35 3 |27.0
~33.0
530 16.6 | 0.446 4.32 4.75 0.91 | 12.49 3 |s7.0
~90.0
590 17.3 | 0.432 5.46 6.14 0.89 | 15.64 3 |46.0
~136.0
650 19.3 | 0.424 7.48 8.32 0.90 | 21.30 3 |19.0
~155.0
720 19.9 | 0.416 | 10.50 10.50 | 1.00 | 29.74 - | -
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(Ss-1)

000
¢) m=EN

T.M.S.L. 5 ) T.M.S.L. ) )
m m

(m) K. C. (m) K. C.

4.9 Ksl 3.92><10° 2.69>=<10° 4.9 Ksl 6.92><10° 4.68><10°
Krl 7.18><10° 1.48><10° Krl 1.27><10° 2.59><10°
Ks2 5.26><10° 3.62><10° Ks2 2.27=<10° 1.54>=<10°
Kr2 9.64>10° 1.98><10° Kr2 4.15><10° 8.50><10’

-1.1 Ks3 9.34><10° 6.42><10° -1.1 Ks3 1.65>10° 1.12><10°
Kr3 1.71><10° 3.51><10° Kr3 3.02><10° 6.17><10°
Ks4 1.25>10° 8.61><10° Ks4 5.40><10° 3.66><10°
Kr4 2.29><10° 4.71><10° Kr4 9.89><10° 2.02><10°

-5.1 Ks5 2.09><10° 1.12><10° -5.1 Ks5 2.09><10° 1.10><10°
Kr5 3.84><10° 6.27><10° Kr5 3.84>10° 6.23><10°

-7.9 Ks6 2.30><10° 6.92><10° -7.9 Ks6 2.30><10° 6.86><10°
Kr6 4.25><10° 4.19><10° Kré 4.25%<10° 4.14><10°
Ks7 1.15>10° 6.93><10° Ks7 1.17><10° 7.12><10°
Kr7 3.16><10" 7.73%<10° Kr7 2.45><10" 4.97>=<10°

(*1) Ks1 Ks7  KkN/m Krl Kr7  kNem/rad (*1) Ks1 Ks7  KkN/m Krl Kr7  KkNem/rad

(*2) Ks1 Ks7 kNes/m Krl Kr7  kNesem/rad (*2) Ks1 Ks7 kNes/m Krl Kr7  kNesem/rad

T.M.S.L.(m) oD 2
Ke Ce
-7.9 K1 2.00><10° 1.74><10’
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000
¢) m=EN

(Ss-2)

T-M.S.L. D 2
m
(m) K. C.
4.9 Ksl 3.79><10° 2.66><10°
Krl 6.94><10° 1.45>10°
Ks2 5.09><10° 3.57><10°
Kr2 9.32><10° 1.95>10°
-1.1 Ks3 9.03><10° 6.33><10°
Kr3 1.65>10° 3.46><10°
Ks4 1.21><10° 8.49><10°
Kr4 2.22><10° 4.64><10°
-5.1 Ks5 2.05>10° 1.11><10°
Kr5 3.76><10° 6.19><10°
-7.9 Ks6 2.30><10° 6.93><10°
Kr6 4.25><10° 4.19><10°
Ks7 1.16><10° 6.98><10°
Kr7 3.22><10" 7.79><10°
(*1) Ks1 Ks7  KkN/m Krl Kr7  kNem/rad
(*2) Ks1 Ks7 kNes/m Krl Kr7  kNesem/rad
T.M.S.L.(m) oD 2
Ke Ce
-7.9 K1 2.06><10° 1.76><10’

T.M.S.L. ) )
(m) K. C.
4.9 Ksl 6.69><10° 4.62><10°

Krl 1.22><10° 2.55>10°
Ks2 2.19=<10° 1.52><10°
Kr2 4.02><10° 8.37>=<10’
-1.1 Ks3 1.59><10° 1.10><10°
Kr3 2.92>10° 6.07><10°
Ks4 5.22><10° 3.61=<10°
Kr4 9.56><10° 1.99><10°
-5.1 Ks5 2.05>10° 1.09><10°
Kr5 3.76><10° 6.16><10°
-7.9 Ks6 2.30><10° 6.86><10°
Kré 4.25%<10° 4.14><10°
Ks7 1.19><10° 7.18>10°
Kr7 2.49>=<10" 4.99><10°
(*1) Ksl Ks7  kN/m Krl Kr7  kNem/rad
(*2) Ks1 Ks7 kNes/m Krl Kr7  kNesem/rad
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(Ss-3)

000
¢) m=EN

T.M.S.L. 5 ) T.M.S.L. ) )
m m

(m) K. C. (m) K. C.

4.9 Ksl 4.05><10° 2.73%<10° 4.9 Ksl 7.15><10° 4.74><10°
Krl 7.42><10° 1.50><10° Krl 1.31><10° 2.63><10°
Ks2 5.44><10° 3.66><10° Ks2 2.35%<10° 1.56>=<10°
Kr2 9.96><10° 2.01><10° Kr2 4.29><10° 8.63><10’

-1.1 Ks3 9.65><10° 6.50><10° -1.1 Ks3 1.70><10° 1.13><10°
Kr3 1.77><10° 3.57><10° Kr3 3.12><10° 6.27><10°
Ks4 1.30><10° 8.72><10° Ks4 5.58><10° 3.70=<10°
Kr4 2.37><10° 4.79><10° Kr4 1.02><10° 2.06><10°

-5.1 Ks5 2.14><10° 1.13><10° -5.1 Ks5 2.14>10° 1.12><10°
Kr5 3.93><10° 6.35>10° Kr5 3.93>10° 6.31><10°

-7.9 Ks6 2.32><10° 6.95><10° -7.9 Ks6 2.32><10° 6.88><10°
Kr6 4.28><10° 4.20><10° Kré 4.28><10° 4.15><10°
Ks7 1.13><10° 6.89><10° Ks7 1.15>10° 7.09><10°
Kr7 3.08><10" 7.66><10° Kr7 2.39>=<10" 4.93>%<10°

(*1) Ks1 Ks7  KkN/m Krl Kr7  kNem/rad (*1) Ks1 Ks7  KkN/m Krl Kr7  KkNem/rad

(*2) Ks1 Ks7 kNes/m Krl Kr7  kNesem/rad (*2) Ks1 Ks7 kNes/m Krl Kr7  kNesem/rad

T.M.S.L.(m) oD 2
Ke Ce
-7.9 K1 1.95>10° 1.71>=<10’
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T.M.S.L. 5 ) T.M.S.L. ) )
m m

(m) K. C. (m) K. C.

4.9 Ksl 4.29><10° 2.80>=<10° 4.9 Ksl 7.57=<10° 4.86><10°
Krl 7.86><10° 1.54><10° Krl 1.39><10° 2.71><10°
Ks2 5.76><10° 3.76><10° Ks2 2.48><10° 1.60>=<10°
Kr2 1.05><10° 2.07><10° Kr2 4.55>10° 8.87><10’

-1.1 Ks3 1.02><10° 6.67><10° -1.1 Ks3 1.80><10° 1.16><10°
Kr3 1.87><10° 3.67><10° Kr3 3.30><10° 6.44><10°
Ks4 1.37><10° 8.95><10° Ks4 5.91><10° 3.80=<10°
Kr4 2.51><10° 4.92><10° Kr4 1.08><10° 2.11><10°

-5.1 Ks5 2.24>10° 1.16><10° -5.1 Ks5 2.24>10° 1.14>10°
Kr5 4.11><10° 6.50><10° Kr5 4.11>=<10° 6.46><10°

-7.9 Ks6 2.38><10° 7.04><10° -7.9 Ks6 2.38>10° 6.97><10°
Kr6 4.39><10° 4.25><10° Kré 4.39><10° 4.20>=<10°
Ks7 1.19><10° 7.06><10° Ks7 1.21><10° 7.26><10°
Kr7 3.29><10" 7.82><10° Kr7 2.54><10" 5.03>10°

(*1) Ks1 Ks7  KkN/m Krl Kr7  kNem/rad (*1) Ks1 Ks7  KkN/m Krl Kr7  KkNem/rad

(*2) Ks1 Ks7 kNes/m Krl Kr7  kNesem/rad (*2) Ks1 Ks7 kNes/m Krl Kr7  kNesem/rad

T.M.S.L.(m) oD 2
Ke Ce
-7.9 K1 2.08><10° 1.77>=<10
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(Ss-5)

000
¢) m=EN

T.M.S.L. 5 ) T.M.S.L. ) )
m m

(m) K. C. (m) K. C.

4.9 Ksl 4.16><10° 2.76<10° 4.9 Ksl 7.33%<10° 4.80><10°
Krl 7.61><10° 1.52><10° Krl 1.34><10° 2.66><10°
Ks2 5.58><10° 3.71><10° Ks2 2.40><10° 1.57>=<10°
Kr2 1.02><10° 2.04><10° Kr2 4.40>=<10° 8.74>=<10’

-1.1 Ks3 9.89><10° 6.58><10° -1.1 Ks3 1.74>10° 1.14>10°
Kr3 1.81><10° 3.61><10° Kr3 3.19><10° 6.34><10°
Ks4 1.33><10° 8.83><10° Ks4 5.72><10° 3.75%<10°
Kr4 2.43><10° 4.85><10° Kr4 1.05><10° 2.08><10°

-5.1 Ks5 2.18>10° 1.14><10° -5.1 Ks5 2.18>10° 1.13><10°
Kr5 4.01><10° 6.42><10° Kr5 4.01>=<10° 6.38><10°

-7.9 Ks6 2.35>10° 6.99><10° -7.9 Ks6 2.35>10° 6.93><10°
Kr6 4.34><10° 4.23>%<10° Kré 4.34><10° 4.17>=<10°
Ks7 1.17><10° 7.00><10° Ks7 1.20><10° 7.20><10°
Kr7 3.24><10" 7.79><10° Kr7 2.50><10" 4.98><10°

(*1) Ks1 Ks7  KkN/m Krl Kr7  kNem/rad (*1) Ks1 Ks7  KkN/m Krl Kr7  KkNem/rad

(*2) Ks1 Ks7 kNes/m Krl Kr7  kNesem/rad (*2) Ks1 Ks7 kNes/m Krl Kr7  kNesem/rad

T.M.S.L.(m) oD 2
Ke Ce
-7.9 K1 2.05>10° 1.76><10’
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(Ss-1)

Hz
1 0.384 2.61 3.379
2 0.297 3.37 -1.640
3 0.246 4.07 -1.396
4 0.218 4.59 0.729
5 0.173 5.80 -0.995

Hz
1 0.353 2.83 2.217
2 0.278 3.60 -0.969
3 0.215 4.66 -1.694
4 0.185 5.42 -1.103
5 0.182 5.50 -0.516
Hz
1 0.390 2.56 2.029
2 0.230 4.36 -1.132
3 0.085 11.76 0.187
4 0.063 15.87 -0.125
5 0.054 18.48 -0.040
1
000
¢) mREN

TEPCO
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(Ss-2)

Hz
1 0.382 2.62 3.301
2 0.296 3.38 -1.630
3 0.245 4.08 -1.428
4 0.218 4.59 -0.743
5 0.172 5.80 -0.991

Hz
1 0.352 2.84 2.227
2 0.278 3.60 -0.977
3 0.214 4.66 -1.699
4 0.185 5.42 -1.113
5 0.182 5.50 -0.530
Hz
1 0.390 2.56 2.000
2 0.226 4.42 1.117
3 0.085 11.76 0.193
4 0.063 15.87 -0.129
5 0.054 18.48 -0.041
1
000
¢) ===

TEPCO

92




(Ss-3)

Hz
1 0.385 2.60 3.364
2 0.297 3.37 -1.648
3 0.246 4.06 -1.364
4 0.218 4.59 0.716
5 0.173 5.79 -1.004

Hz
1 0.355 2.82 2.199
2 0.278 3.59 -0.954
3 0.215 4.65 -1.682
4 0.185 5.41 -1.080
5 0.182 5.50 -0.490
Hz
1 0.390 2.56 2.055
2 0.232 4.30 -1.155
3 0.085 11.76 0.182
4 0.063 15.87 -0.122
5 0.054 18.48 -0.039
1
000
¢) mREN

TEPCO
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(Ss-4)

Hz
1 0.380 2.63 3.410
2 0.296 3.38 -1.616
3 0.245 4.09 -1.477
4 0.218 4.59 -0.768
5 0.172 5.81 -0.981

Hz
1 0.349 2.86 2.258
2 0.277 3.61 -1.001
3 0.214 4.68 -1.728
4 0.184 5.42 -1.166
5 0.182 5.51 -0.589
Hz
1 0.390 2.56 1.991
2 0.225 4.44 1.119
3 0.085 11.76 0.196
4 0.063 15.87 -0.130
5 0.054 18.48 -0.041
1
000
¢) ERESH

TEPCO
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(Ss-5)

Hz
1 0.381 2.62 3.400
2 0.296 3.38 -1.622
3 0.245 4.08 -1.454
4 0.218 4.59 -0.757
5 0.172 5.81 -0.989

Hz
1 0.351 2.85 2.239
2 0.278 3.60 -0.987
3 0.214 4.67 -1.711
4 0.185 5.42 -1.134
5 0.182 5.50 -0.552
Hz
1 0.390 2.56 2.005
2 0.227 4.41 1.116
3 0.085 11.76 0.192
4 0.063 15.87 -0.128
5 0.054 18.48 -0.041
1
000
¢) ERESH

TEPCO
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T.M.S.L.(M)

44.30

38.60

30.90

25.80

20.40

12.30

4.90 |t

110 [

5.0 |
: 0 1500 3000

K
-7.90 (cn/s?)
0 1500 3000
(cn/s?)

0 1500

3000

4500
(cn/s?)

a b
Ss-1|Ss-2|Ss-3|Ss-4|Ss-5| |Ss-1|Ss-2|Ss-3|Ss-4|Ss-5
C
2226|2388| 1662|1438/ 1238| |1679|2361|1347| 968| 1008
Ss-1|Ss-2|Ss-3|Ss-4|Ss-5
1674]1463]1338|1062| 790
893| 801| 741| 389| 486 970| 826| 716| 375| 437((2084|1669|1771|1384|1443
937| 746| 696| 367| 419||1558|1279/1261| 780| 867
846| 702| 698| 367| 388 898| 653| 680| 360| 397
847| 606| 666| 367| 375 854| 610 660| 350| 357|| 854| 610/ 660| 350/ 357
811| 583| 641| 350| 349 814| 550| 649| 342| 328
759| 543| 628| 332| 321 769| 524| 634| 333| 311
730/ 508| 619| 332| 308 730 508| 619| 332] 308
730 512| 623] 332] 308
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| Ss1 | Ss2 | Ss3 | Ss4 | Ssb || Ss1 | Ss2 | Ss3 | Ss4 | Ss5 || Ss1 | Ss2 | Ss3 | Ss4 | Ss5 || Ss1 | Ss2 | Ss3 | Ss4 | Ssb5 || Ss1 | Ss2 | Ss3 | Ss4 | Ss5
2397|2019]1774| 1937|1802 [2397|2019|1774|1937|1802||1873|1870|1523|1789|1711||1873|1870/1523|1789|1711||1663|1718|1397 | 1431|1492

2133122841709 | 1786 | 1499 | | 2133|2284 1709

1485 1463 | 1158 | 1157 | 894 1364]1297/1088|1051| 954
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770 | 805 | 652 | 519 | 614 770 | 805 | 652 | 519 | 614 || 807 | 789 | 717 | 516 | 624 770 18051 652 | 519 | 614
714 | 777 | 645 | 490 | 589 733 | 772 | 671 | 495 | 590
| 689 | 759 | 637 | 480 | 570 ] 689 | 759 | 637 | 480 | 570

686 | 762 | 640 | 484 | 566
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T.M.S.L.(m)

44.30

38.60

30.90
25.80

20.40

12.30

-1.10

-5.10

-7.9 I ‘
0 1500 3000
(cn/s?)

(cn/<)
6000

4000

| 2000

0

0.00 4.925 9.250 13.875 18.50
m

) 0.0 |4.925|9.250 |13.875| 18.50
Ss-1 1601 | 2125 | 2708 | 2778 | 3810
Ss-2 1051 | 1319 | 1368 | 1532 | 2014
Ss-3 986 | 1394 | 1682 | 2163 | 2603
Ss-4 838 | 1332 | 1574 | 1483 | 2178
Ss-5 676 | 1302 | 1400 | 1563 | 2057

Ss-1 | Ss-2 | Ss-3 | Ss-4 | Ss-5
1601 | 1051 | 986 | 838 | 676
1361 | 909 | 777 | 704 | 554
881 | 584 | 559 | 419 | 417
860 | 571 | 550 | 407 | 410
831 | 552 | 546 | 390 | 400
779 | 521 | 539 | 373 | 390
729 | 500 | 529 | 365 | 379
698 | 482 | 516 | 361 | 371
699 | 469 | 513 | 360 | 367
700 | 467 | 514 | 360 | 367
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(TMSL) & =103
Ss-1 Ss-2 Ss-3 Ss-4 Ss-5
-5.1m 2F 0.20 0.16 0.16 0.09 0.09 20
(TMS.L) =107
Ss-1 Ss-2 Ss-3 Ss-4 Ss-5
12 3m 1F 012 0.09 0.10 0.05 0.05
4.9m B1F 012 0.09 0.09 0.05 0.05 50
~1.1m MB2F 0.13 0.09 0.10 0.05 0.05
_51m B2F 0.16 011 012 0.07 0.07
000
¢) RREN

TEPCO
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(TMSL) & =103
Ss-1 Ss-2 Ss-3 Ss-4 Ss-5
-5.1m 2F 0.19 0.16 0.15 0.09 0.09 20
(TMS.L) =107
Ss-1 Ss-2 Ss-3 Ss-4 Ss-5
12 3m 1F 011 0.08 0.09 0.05 0.05
4.9m B1F 011 0.09 0.09 0.05 0.05 50
~1.1m MB2F 012 0.10 0.09 0.05 0.05
_51m B2F 0.15 0.13 012 0.06 0.07
000
¢) RREN

TEPCO
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>=<10-3

(TMSL) &
Ss-1 Ss-2 Ss-3 Ss-4 Ss-5
4.9m B1F 0.14 0.15 0.12 011 0.13
-11m MB2F 0.17 0.18 0.14 0.15 0.15 2.0
-5.1m B2F 0.19 0.19 0.14 0.15 0.16
-3
(mmsL) T =10
Ss-1 Ss-2 Ss-3 Ss-4 Ss-5
4.9m B1F 0.10 0.08 0.07 0.05 0.06
~11m MB2F 0.16 0.14 0.11 0.10 0.11 20
-51m B2F 022 0.21 0.16 0.16 0.16
) -3
(TMS.L) I >=<10
Ss-1 Ss-2 Ss-3 Ss-4 Ss-5
12.3m 1F 0.16 0.16 017 0.14 0.15 50
49m B1F 0.18 0.20 0.16 0.16 0.17 '
000 L
¢) RREN

TEPCO
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-51m B2F 0.15 0.14 011 011 012
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(Ss-1)

Hz) ’ Hz) ’
1 0.435 2.30 1.579 1 0.426 2.35 1.542
2 0.191 5.24 -0.680 2 0.190 5.27 -0.606
3 0.087 11.51 0.063 3 0.079 12.69 -0.026
4 0.074 13.43 0.060 4 0.074 13.50 0.129
5 0.074 13.45 0.018 5 0.069 14.57 -0.043

Hz) )
1 0.277 3.61 9.852
2 0.257 3.89 -8.911
3 0.077 12.97 0.086
4 0.051 19.47 -0.081
5 0.045 22.16 -0.083

1

000
¢) m=EN

TEPCO



(Ss-2)

Hz) ’ Hz) ’
1 0.434 2.30 1.579 1 0.425 2.35 1.542
2 0.190 5.25 -0.682 2 0.189 5.29 -0.607
3 0.087 11.51 0.063 3 0.079 12.69 -0.026
4 0.074 13.43 0.059 4 0.074 13.51 0.130
5 0.074 13.46 0.027 5 0.069 14.58 -0.043

Hz) ’
1 0.276 3.62 9.432
2 0.256 3.91 -8.492
3 0.077 12.97 0.087
4 0.051 19.47 -0.082
5 0.045 22.17 -0.084

1
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¢) m=EN
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(Ss-3)

Hz) ’ Hz) ’
1 0.438 2.29 1.578 1 0.428 2.34 1.541
2 0.192 5.21 -0.678 2 0.191 5.24 -0.604
3 0.087 11.51 0.062 3 0.079 12.69 -0.026
4 0.074 13.43 0.117 4 0.074 13.50 0.128
5 0.074 13.43 -0.042 5 0.069 14.56 -0.044

Hz) ’
1 0.278 3.59 10.530
2 0.260 3.85 -9.587
3 0.077 12.97 0.083
4 0.051 19.47 -0.079
5 0.045 22.15 -0.080

1
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(Ss-4)

Hz) ’ Hz) ’
1 0.429 2.33 1.581 1 0.419 2.39 1.544
2 0.188 5.32 -0.687 2 0.187 5.35 -0.610
3 0.087 11.51 0.065 3 0.079 12.69 -0.027
4 0.074 13.45 0.060 4 0.074 13.52 0.132
5 0.074 13.50 0.035 5 0.068 14.62 -0.044

Hz) ’
1 0.276 3.62 9.000
2 0.254 3.94 -8.061
3 0.077 12.97 0.089
4 0.051 19.47 -0.083
5 0.045 22.18 -0.086

1
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(Ss-5)

Hz) Hz)
1 0.431 2.32 1.580 1 0.422 2.37 1.543
2 0.189 5.29 -0.684 2 0.188 5.32 -0.609
3 0.087 11.51 0.064 3 0.079 12.69 -0.027
4 0.074 13.44 0.060 4 0.074 13.51 0.131
5 0.074 13.48 0.032 5 0.069 14.60 -0.044
Hz)
1 0.276 3.62 9.432
2 0.256 3.91 -8.492
3 0.077 12.97 0.087
4 0.051 19.47 -0.082
5 0.045 22.17 -0.084
000
¢) ===

TEPCO
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Ss-1|Ss-2|Ss-3| Ss-4 | Ss-5
RCCV 1041 | 1021 | 748 | 599 | 763 1041|1021 | 748 | 599 | 763
891 | 947 | 672 | 599 | 674 891 | 947 | 672 | 599 | 674
808 | 903 | 615 | 602 | 625 808 | 903 | 615 | 602 | 625
751 | 873 | 583 | 593 | 579 751 | 873 | 583 | 593 | 579
688 | 793 | 562 | 546 | 522 688 | 793 | 562 | 546 | 522
681 | 812 | 563 | 491 | 494 681 | 812 | 563 | 491 | 494
‘ 593 | 740 | 613 | 436 | 491 593 | 740 | 613 | 436 | 491
2000 3000
(cm/sz) 618 | 705 | 653 | 423 | 495
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Hz) sec X Y 7
1 0.98 1.021 1.528 0.000 0.000
2 0.98 1.017 0.000 1.511 0.000
4 3.69 0.271 -1.615 0.000 0.000
5 3.71 0.269 0.000 -1.537 0.000
6 6.63 0.151 -1.200 0.000 0.000
7 6.67 0.150 0.000 -1.185 0.000
10 10.75 0.093 1.066 0.000 0.001
11 11.16 0.090 0.000 1.033 0.000
22 19.06 0.052 0.000 0.000 1.251
23 20.43 0.049 -0.001 0.000 1.614
* 1
e00
) REREN
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